Complete the chart.

Polynomial Functions

Degree

Equation Type # of Roots | End Behaviour
F(x) =3 x
LX) = x-4
o) =x"-%x—b
FO) = (x+2)°
£x) = 2x*+3
f1x)= x>

£x) = 0.5(x-4)

£05) 7 (x4 2 x=-3) x+5)

fex) = 3xt4 2%*

£ex) = X354 2x — b

o) = (erS)(x-) (x-2)

£ix) = 2B (xHYx -1 %-3)

fx)= X +3x% o

204 = BxPr by -2y —]

f(x) = (Xffb? (x-2Y

£0x) = 5 Ol Dix -2 3)T)

fix)= -3x+2

f()=-2x"+3x -5

£(x) = ~2(%+5)(x+1)

£x) 7 - X

)= =(xe3) (x-1)

f(x) = -2 (x+Dxr(x-3)

f(x) = —4x*t

fix) = -3 (x =) (x+ )"

£x) = - 2(x+3Y (x=1)

fix) = —(x+3) (x-a3) ™

£) = —2x%°




